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1) Spy of merge sort

2) Trees



fun myes.at/l:inHist):intlist--
Case l of
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fun split(e) =
"7¥ cos.is)
I Ex] ⇒4×7,0)

d¥÷y¥⇒let Val lp , ,pz)=sp1H☒•
in ( x ::p, , , y ::p,) n -2

×% end
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OLDparallelizablealgorithm



funmugell.dz/---Tx::xs,y::ys--3
case ✗≤got+ne⇒x::mye(Éyys)

lfnlse-syi.myelx.i.xs.gs)
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Why)=n -12K¥ 8 [8,1/93,736,9]
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Spy : running time for
" er ugh

"

processors

Ideas: if 2 things can be done
in parallel,

Monday) take the maximums of
means bigger
of ✗ org their running time (Spon ),

Max (7/3)=7 not thesunc-seqert.ae/Max(3,73=7 _
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+maxlsmsc:)

, / is 0 (n)Sms (E))
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n 1 billion G:sP%g
n log n 30 billion work for -

MS

n N billion spare

time
is ≈ max /¥ ,

s )
onp
processors ≈ Max f%"9 1 bill:D

Can only use roughly 30 pray



Goof get the span of⇐
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A treehis either
- Empty , or
- Node (l,x,r)wt-× : int

three]
i. truce

→ and thats it!
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(* Purpose: out howmay #s are in the they
* size ) = 4 *)
fun size ( t : tree) : init
Case t of

Empty ⇒ 0
/ Modell, × , r ) ⇒

I + size) +siz
naturally get 2 subprobtens



(* Purpose: ,add I to each number ¥
* add = ⑤

/ \

⑨ ③
*)

⇐

fun add / ( f. tree ) : tree =
Case t of

Empty⇒ Empty
INDIE,⇒
Node@ddI(e)

,
✗ +1
,
addIG))
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fun add / ( t : tree ) : tree =

Case t of

Empty⇒ Empty1ⁿ¥¥¥É,×+sao
Wood, ( n) = I + 2 Wa:-#a (F) if balanced
% 06)

sizeoEpt-B ltbamc@
- -

Sado (n) = It MaxGaddi (E) , Saadi (E))
= I + Sada (E) =
0 ( Ign )
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max (±!, 30)




